CHAPTERO1 QUESTIONS

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) Convert binary 010101 to octal.
A) 258 B) 58 C) 218

2) Any number with an exponent of zero is equal to
A) itself. B) ten. C) zero.

3) Convert binary 10101010 to octal.
A) 2068 B) 5228 C) 2558

4) Convert octal 377 to binary.
A) 11101101 B) 01111011 C) 10110111

5) Convert octal 54 to decimal.
A) 6410 B) 5810 C) 7610

6) Convert the binary number 0000.1010 to decimal.
A) 0.10 B) 0.55 C) 0.50

7) Convert octal 36 to binary.
A) 110110 B) 100110 C) 110011

8) The decimal equivalent of binary 1010000 is .
A) 9610 B) 8010 C) 7810

9) Convert octal 701 to binary.
A) 11000001 B) 111000001 C) 1000111

10) Convert the binary number 1011.1110 to decimal.
A) 11.875 B) 11.675 C) 13.875

11) What is the decimal value of 2-2?
A) 0.5 B) 0.125 C) 0.2

12) Convert the decimal number 12.125 to binary.
A) 1100.0110 B) 1110.0010 C) 1100.0010

13) Which binary value equals 2-2?
A) 0000.0010 B) 0010.0000 C) 0000.1000

14) Convert the decimal number 6.75 to binary.
A) 0110.1100 B) 0111.1100 C) 0110.0110

15) How many symbols are used in the hexadecimal number system?
A) sixteen B) six C) ten

D) 158

D) one.

D) 2528

D) 11111111

D) 4410

D) 0.625

D) 011110

D) 8410

D) 111000100

D) 13.75

D) 0.25

D) 1010.1100

D) 0000.0100

D) 0110.1010

D) twelve
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16) The binary equivalent of hexadecimal DB is

A) 10110011 B) 11011100 C) 10111011

17) Convert octal 12 to binary.

A) 010001 B) 001111 C) 001010
18) The hexadecimal equivalent of a decimal 13 is _ .
A)"C" B) "D" C) "E"

19) The hexadecimal equivalent of a binary 0010111101111110is _
A) 2F7716 B) 4EEE16 C) 77F216

20) Convert decimal 213 to binary.

A) 11001101 B) 01111001 C) 11010101

21) Convert decimal 19 to binary.

A) 00010011 B) 00010100 C) 00100011

22) The binary equivalent of hexadecimal 2E is

A) 110001110 B) 00110111 C) 00101110

D) 11011011

D) 001100

D) "F"

D) 2F7E16

D) 11100011

D) 00011001

D) 00100111

23) Which numbering format is most commonly used in a computer's machine language?

A) ASCII B) hexadecimal C) octal
24) The hexadecimal equivalent of a binary 00100011 is .

A) 2116 B) 2016 C) 2316
25) The decimal equivalent of hexadecimal C9 is .

A) 21510 B) 22010 C) 20110
26) The hexadecimal equivalent of a decimal 11 is _ .

A)"A" B) "B" Cc)"c"
27) What is the decimal value of 232

A)4 B) 8 C)2

28) Which binary value equals 24?

A) 00010000 B) 00010100 C) 00010001

29) Convert decimal 31 to octal.
A) 378 B) 438 C) 338

30) The decimal equivalent of binary 110101 is __

A) 4710 B) 5310 C) 4910

31) The binary equivalent of hexadecimal 70 is

A) 00000111 B) 01111000 C) 01110000

D) BCD

D) 3016

D) 21010

D) "D"

D) 6

D) 00001000

D) 308

D) 5910

D) 11100000
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32) The decimal equivalent of the BCD value 0011 1001 0010 is
A) 49010 B) 39210 C) 98210

33) What is the decimal value of 2-1?
A) 0.1 B) 0.25 C) 05

34) The hexadecimal equivalent of a binary 10000111 is .
A) 9316 B) 8116 C) 8716

35) What is the decimal value of 21?
A) 1 B) 4 C)2

36) The hexadecimal equivalent of a binary 10001100 is .
A) 8C16 B) C816 C) 8616

37) Convert the binary number 1010.1100 to decimal.
A) 12.65 B) 10.875 C) 10.55

38) What is the decimal value of 25?
A) 10 B) 20 C) 16

39) The decimal equivalent of hexadecimal 93 is _ .
A) 15710 B) 15010 C) 14710

40) The decimal equivalent of hexadecimal 102 is .
A) 5910 B) 25810 C) 5610

41) The hexadecimal equivalent of decimal 128 is .
A) 8216 B) 8016 C) 8516

42) Convert binary 10111111 to octal.
A) 2108 B) 1713 C) 2573

43) Convert decimal 36 to binary.
A) 00110100 B) 01000010 C) 00100100

44) The hexadecimal equivalent of decimal 91 is _ .
A) 5B16 B) 4C16 C) 4B16

45) Convert decimal 20 to octal.
A) 168 B) 108 C) 188

46) Convert binary 1111101 to octal.
A) 7613 B) 2758 C) 1758

47) How many unique numeric symbols are used in the decimal number system?
A) unlimited B) nine C) one

D) 41310

D) 0.05

D) 7716

D) 0

D) CCi16

D) 10.75

D) 32

D) 14010

D) 6010

D) 9016

D) 2778

D) 01100010

D) 5D16

D) 24g

D) 958

D) ten
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48) The decimal equivalent of binary 10000110 is .
A) 12610 B) 11010 C) 13410

49) The binary equivalent of hexadecimal F2 is __

A) 11110010 B) 11100011 C) 11111100

50) The BCD equivalent of decimal 88 is .
A) 1000 1000BCD B) 1010 1000BCD

51) The decimal equivalent of binary 0010111 is .
A) 4810 B) 2210 C) 1910

52) The hexadecimal equivalent of a binary 10100101 is .
A) Ad1p B) A516 C) C316

53) Convert octal 115 to decimal.
A) 7710 B) 9810 C) 6810

54) Convert decimal 101 to binary.

A) 00111011 B) 01100101 C) 01101111

55) Which binary value equals 26?

A) 00001100 B) 00000110 C) 01000000

56) What is the decimal value of 262
A) 128 B) 36 C) 32

57) The decimal equivalent of the BCD value 0010 0011 is .
A) 2710 B) 2310 C) 4310

58) What numeric symbols are used in the binary number system?
A) 0 through 8 B)O, 1,2 C)1,2

59) The decimal equivalent of the BCD value 1001 0011 is .
A) 9310 B) 16610 C) 9810

60) The BCD equivalent of decimal 912 is _
A) 1001 0001 0010BCD

C) 0111 1111 1110BCD

61) Which binary value equals 2-1?
A) 1.0000 B) 0.0010 C) 0.0001

62) Convert decimal 58 to binary.

A) 00011110 B) 00111010 C) 00111100

C) 1100 0010BCD

B) 1001 1000 0001BCD
D) 0010 001 1001BCD

D) 14410

D) 10100001

D) 1001 0000BCD

D) 2310

D) B516

D) 7410

D) 01110011

D) 00100000

D) 64

D) 2010

D)0, 1

D) 17610

D) 0.1000

D) 00101110
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63) Convert octal 16 to decimal.
A) 2010 B) 1410

64) Convert octal 10 to decimal.
A) 1210 B) 210

65) Which binary value equals 21?
A) 0100 B) 0010

66) Convert octal 66 to decimal.
A) 5410 B) 4410

67) The decimal equivalent of hexadecimal 2D is __

A) 5510 B) 4510

68) The decimal equivalent of hexadecimal AA is

A) 16510 B) 18610

69) Which binary value equals 2-3?

A) 0011.1000 B) 0000.0010

70) The hexadecimal equivalent of decimal 60 is _

A) 3C16 B) 3D16

71) The base of the octal system is
A) eight. B) two.

72) Which binary value equals 20?
A) 0100 B) 0001

73) Convert decimal 102 to octal.
A) 1008 B) 1468

74) What is the decimal value of 2-3?
A) 0.25 B) 0.75

75) Convert decimal 12 to octal.
A) 168 B) 128

C) 1610
C) 810
C) 0001
C) 6410
é) 4110
C.) 17610
C) 0000.0100
é) 4D16
C) ten.
C) 1000
C) 1628
C) 0.125

C) 108

76) Which numbering format is the basis for digital electronic circuitry?

A) decimal B) BCD

77) Convert decimal 64 to binary.

A) 00110110 B) 01000000

78) Convert octal 77 to binary.

A) 1100111 B) 011111

C) octal

C) 01001000

C) 011011

D) 1010

D) 1610

D) 1000

D) 5610

D) 5110

D) 17010

D) 0000.0011

D) 5C16

D) seven.

D) 0000

D) 1548

D) 0.8

D) 14g

D) binary

D) 01010010

D) 111111
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79) Which numbering format is used to represent both numbers and letters on a keyboard?

A) octal B) ASCII

80) Convert decimal 118 to binary.

A) 00111110 B) 01110110 C) 01111010

81) The hexadecimal equivalent of decimal 77 is _ .
A) 3D16 B) 3E16 C) 5D16

82) Which numbering format can only represent the ten decimal digits?
A) ASCII B) octal C) BCD

83) The decimal equivalent of binary 10010 is .
A) 910 B) 610 C) 2010

84) Which binary value equals 22?
A) 0100 B) 0001 C) 0010

85) The decimal equivalent of hexadecimal 16 is _ .
A) 2710 B) 2510 C) 3210

86) The hexadecimal equivalent of a binary 111111110010 is
A) EE216 B) FD216 C) 2FE16

87) Convert the decimal number 14.875 to binary.

A) 1110.0111 B) 1110.1110 C) 1111.1011

88) The decimal equivalent of binary 00101011 is .
A) 4310 B) 3910 C) 5910

89) Convert decimal 70 to octal.
A) 1108 B) 1028 C) 768

90) Convert decimal 79 to binary.

A) 01010011 B) 01001011 C) 00111110

91) The hexadecimal equivalent of decimal 241 is .
A) Fl16 B) D316 C) E716

92) Convert the decimal number 10.5 to binary.

A) 1100.1000 B) 1010.0101 C) 1010.1000

93) Convert decimal 78 to octal.
A) 988 B) 1208 C) 1168

94) The hexadecimal equivalent of decimal 32 is _ .
A) 1216 B) 2516 C) 3116

C) hexadecimal

D) BCD

D) 01101110

D) 4D16

D) binary

D) 1810

D) 0011

D) 2210

D) FF216

D) 1100.1100

D) 6110

D) 1068

D) 01001111

D) 10A16

D) 1011.1000

D) 1068

D) 2016
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95) Convert octal 130 to decimal.

A) 4710 B) 5710

C) 6410

96) Which numbering formats are really codes rather than true number systems?

A) hexadecimal and octal
C) decimal and binary

97) Convert decimal 64 to octal.
A) 778 B) 768

98) The hexadecimal equivalent of a decimal 14 is _
A)"C" B) "D"

99) The BCD equivalent of decimal 109 is _
A) 1110 1011BCD

C) 1110 1110 1100BCD

100) Convert the decimal number 0.0625 to binary.
A) 0000.0111 B) 0000.1110

101) The BCD equivalent of decimal 64 is .
A) 0111 0110BCD B) 0111 1110BCD

102) Convert octal 100 to binary.

A) 10000000 B) 1100100

103) Convert the binary number 10010.0100 to decimal.
A) 16.25 B) 18.25

104) The hexadecimal equivalent of a binary 11001111 is
A) 8F16 B) DF16

105) The hexadecimal equivalent of decimal 21 is _
A) 1516 B) 1016

106) Convert binary 110001100101 to octal.
A) 45778 B) 7245g

107) The binary equivalent of hexadecimal COB is
A) 110000001011 B) 110000001100

B) binary and octal
D) BCD and ASCII

C) 100g
C) "E"

B) 0001 0000 1001BCD
D) 0001 0000 1101BCD

C) 0000.0011
C) 0100 00108CD
C) 111111110

C) 18.40

C) CE16

C) 2116
C) 61458

C) 110000001001

108) How many different symbols are used in the octal number system?

A) ten B) two

109) Convert octal 152 to binary.

A) 011100010 B) 00111100

C) seven

C) 01101010

D) 8810

D) 104g

D) "F"

D) 0000.0001

D) 0110 0100BCD

D) 01000000

D) 24.50

D) CFi16

D) 1216

D) 143113

D) 110100001011

D) eight

D) 10101001
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110) The binary equivalent of hexadecimal 44 is

A) 10011010 B) 01000100 C) 10001100

111) Convert octal 64 to binary.

A) 1000000 B) 100000 C) 1111000

112) The binary equivalent of hexadecimal 10 is .
A) 00010000 B) 00110 C) 1010

113) The decimal equivalent of the BCD value 1001 1001 is

A) 9310 B) 9510 C) 9910

114) Convert octal 107 to decimal.
A) 7710 B) 10110 C) 7110

115) Convert binary 11100111 to octal.
A) 3508 B) 3478 C) 3173

116) The hexadecimal equivalent of a binary 10110010 is .
A) E216 B) A216 C) C216

117) The decimal equivalent of hexadecimal FF is .
A) 25010 B) 24010 C) 25510

118) The decimal equivalent of the BCD value 1000 0110 is

A) 8610 B) 7610 C) 8810

119) The decimal equivalent of hexadecimal 1E is .
A) 3510 B) 3010 C) 2910

120) The decimal equivalent of binary 10111110 is .
A) 19010 B) 20010 C) 18610

121) Convert the binary number 0001.0010 to decimal.
A) 1.20 B) 1.40 C) 1.125

122) The decimal equivalent of binary 01100001 is .
A) 9110 B) 9710 C) 11510

123) Convert octal 32 to decimal.
A) 3010 B) 2610 C) 1610

124) The decimal equivalent of the BCD value 0111 0110 1000 is
A) 70810 B) 17210 C) 76810

125) Convert binary 01001110 to octal.
A) 1078 B) 768 C) 1068

D) 01011000

D) 110100

D) 11000

D) 8910

D) 9710

D) 7138

D) B216

D) 22510

D) 8110

D) 2110

D) 19810

D) 1.80

D) 10110

D) 32010

D) 68710

D) 1168
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126) The binary equivalent of hexadecimal 16 is
A) 01110000 B) 1100001

127) What is the decimal value of 20?
A) 2 B) 0

128) Any number with an exponent of one is equal to
A) two. B) itself.

129) The hexadecimal equivalent of decimal 88 is _
A) 6816 B) 5816

130) Convert decimal 19 to octal.
A) 278 B) 218

131) Convert binary 1001 to octal.
A) 1018 B) 98

132) Convert the decimal number 3.375 to binary.
A) 0101.1100 B) 0011.1010

C) 0010011

C)1

C) zero.
é) 5116
C) 238
C) 108

C) 0011.0011

126)
D) 00010110

127)
D) 3

128)
D) one.

129)
D) 5516

130)
D) 178

131)
D) 11g

132)

D) 0011.0110



Answer Key
Testname: CHAPO01Q

1) A

2) D

3)D

4) D

5) D

6) D

7) D

8) B

9) B
10) A
11) D
12) C
13) D
14) A
15) A
16) D
17) C
18) B
19) D
20) C
21) A
22) C
23) B
24) C
25) C
26) B
27) B
28) A
29) A
30) B
31) C
32) B
33) C
34)C
35) C
36) A
37) D
38) D
39) C
40) B
41) B
42) D
43) C
44) A
45) D
46) C
47) D
48) C
49) A
50) A
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Answer Key
Testname: CHAPO01Q

51) D
52) B
53) A
54) B
55) C
56) D
57) B
58) D
59) A
60) A
61) D
62) B
63) B
64) C
65) B
66) A
67) B
68) D
69) B
70) A
71) A
72) B
73) B
74) C
75) D
76) D
77) B
78) D
79) B
80) B
81) D
82) C
83) D
84) A
85) D
86) D
87) B
88) A
89) D
90) D
91) A
92) C
93) C
94) D
95) D
96) D
97) C
98) C
99) B
100) D
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Answer Key
Testname: CHAPO01Q

101) D
102) D
103) B
104) D
105) A
106) C
107) A
108) D
109) C
110) B
111) D
112) A
113) C
114) C
115) B
116) D
117) C
118) A
119) B
120) A
121) C
122) B
123) B
124) C
125) D
126) D
127) C
128) B
129) B
130) C
131) D
132) D
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